gRTeT # gt @l T ¢ 32
No. of Pages in Booklet : 32

Eram Rale — 77~08-22
gRaer # weAl B = 150
No. of Questions in Booklet : 150

ORAA-22 | 5o’

SUBJECT : G.K. & Agriculture Chemistry

‘0N Jopo0g uonsand)
/b lepyh bak

9g : 2.30 g9 AfSrpad 31d : 150
Time: 2.30 Hours Maximum Marks: 150

ye gRadr & YR et /OifaRE T B wes ) aderlf a8 gifed ex o 5 gee gRaer wenr qur sigHa.
TR-T56 W Ifbd IRSIS G | 509 Dy Berar w1, o wenf faw ¥ g - aw a) o |t gk
& B RmRR st @ grll |

On opening the paper seal/ polythene bag of the Question Booklet the candidate should ensure that Question
Booklet Number and Barcode of OMR Answer Sheet must be same. If there is any difference, candidate must

obtain another Question Booklet from Invigilator. Candidate himself shall be responsible for ensuring this.

el & fou frdw

il ygH & Sax QR

il yeHl & e aaH g

Yl YIH &1 ddel Ud B ST Al |

UH 9 e ST o7 B I H W B SO} FI A AT

TG

5. UG YT @ IR defdd wox fod A g S s
1, 2, 3, 4 3ifFa far T 2| el &) O o Al
U 9 W D99 TF Mol NG @A Bl ITR-TFB W
Hre dfe dfge U9 9§ TR O B

6. OMR STR—T3% 9 T9&T GRAIST & < T 8 | 919 AT
gher g Wiem B Fel MY, O SR Fehrel B
& ¥ Bdd Al diel @ige 99 9§ faavor ¥ )

7. UR$ Terd SR @ [HY W 3B BT 1 /3 AFT BT SR
TaAd SR 9 aredd agE SO el B off v @& te 9
At SR ¥ 2| sl O e 9 et e a1 99e @7
el BISAT Terd 9T &l AT SR |

8. HETSH BIFT AT gl U &7 Ger gfel F yanT gofaar
ffa ¥ ofy el aneff & o O 1 aiia arrlt e
2, O Sue [og MM BN PR $rdard! &) S|

9. PUIT JUAT A T AR, THG W HEGUH qdb e
HY | Tefd SIaT YUl el TR W WX 5 3B [ il d
Y B o HHd © |

10. af% 5 uea 3 5l THR @ B IO AT TATHS THR
@ IR A v & B T oh wumRl A @ sfueh
WU ARG BT |

AT : TR B3 rueff THe B THST ST & AT I9d ury

¥ B aERpd wrel o o 2, O 99 aell & favs gfew

F greafid <ol v gy Rfdy Fredi-yeest @ asq sriEE

P T | e g T W areft @ wfasn § @9 arel e

T e et o fJafia @ gear 2

P N A

INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

wrong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer

. Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.

bl i

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.

29 gt qRaeT Bl 99 9% 9 @il Wd dd Hal q oMy |

Do not open this Test Booklet until vou are asked to do so.

01 -3

Page 1 of 32




In which style the predominance of bright
yellow colou} and lacquer red colour is seen?
(1) Marwar style
(2) Kishangarh style
(3) Mewar style
(4) Hadoti style

Which river flows intc Arabian Sea?
(1) Chambal River
(2) Banas River
(3) Luni River
(4) Gambhiri River
On confluence of which rivers the Gagron
Fort is situated?
(1) Kalisindh and Chambal
(2) Ahu and Kalisindh
(3) Chambal and Ahu
(4) Ahu and Nimaj
In which of the following districts of

Rajasthan does river Chambal flows?
(1) Kota, Bundi, Baran, Jhalawar
(2) Kota, Bundi,

Madhopur

(3) Bundi, Kota,
Dholpur
(4) Kota, Bundi, Alwar, Karauli

Rangmahal is located at -
(1) Shri Ganganagar

(2) Bikaner
(3) Churu

Alwar, Sawai

Sawai Madhopur,

(4) Hanumangarh

Which districts Bhorat plateau constitutes?
(1) Between Kumbhalgarh and Gogunda
(2) Sirohi, Jalore district
(3) Ajmer, Jatpur district
(4) Ganganagar, Sirohi district

fFa Aol § wAa 9 1 @R 9 S
AT T B gear ol Sl 87

(1) ARars el

(2) TFarre o=l

(3) AarS dell

4) TR el

BT ) 3RE IR § fied @ —

(1) =T= 6T

(2) €N TS

(3) o T

@ TR A

TR BT e o afeal & 9 o =
Rera 87

(1) TR iR T

(2) g AR Do

(3) == 3R g

@ g 3R e

1 A | o B e el 3§ wea
a7 g'dl 87

(1) Fiel, 9, IR, SAEs

(2) Dier, 441, e, wars AR

(3) 4@, B, WA TR, R
(@) i, g8, IclaN, Bl

e Rerd 8 —

(1) SRR

(2) §iHrR

@ IH

@ e

HIRIC YaR P Helg 1 § 4 8 —
(1) BTG T M-Sl T el
2) RRE, e Ry

(3) ISR, SR el

@) IR, RRE frar
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7. Marwar Youth League was established in - 7.  ARAS U AT B WIGAT B T o —
(1) 1930AD. 1) 1930 .
(2) 1931 AD. (2) 1931 %.
(3) 1932 AD. (3) 1932 S.
(4) 1933 AD. @) 1933 <.
8.  According to 2011, the maximum sexratioin 8. & 2011 = IR, VISR # waifde
Rajasthan is - oo & —
(1) 994 (1) 994
2y 964 (2) 964
3) 978 (3) 978
@) 1002 @ 1002
9.  The prominent saint of Mewat is - 9. Mo & T WIE T E§ —
(1) Haridas (1) sRem
(2) Sundar Das (2) m
(3) Laldas (3) TR
(4) Nagaridas @) e
10. Which districts in Rajasthan have lowest 10. <IoRe & ¥ 2001-2011% W, e 94 9
decade’s growth of population during 2001- 5 Riell & < SFeeE 9fg &) |ed
20117 THH EI?
(1) Pali, Jhunjhunu, Ganganagar () urell, ${E, TR
(2) Jhunjhunu, Jalore, Dungarpur @) TR, TR
(3) Nagaur, Jaipur, Dausa @) TR, SR, SN
(4) Kota, Alwar, Jodhpur @) Biel, IR, G{‘[ﬂg'\f
11.  According to census 2011, whatis the correct 11, SRR 2011 & GNR, NIoRel #
descending order of total population in AT Bl STTEE] BT FEl IJARIE PH
Rajasthan? T 27
(1) Jaipur, Kota, Jodhpur, Bikaner (1) SR, PleT, TEYE, FICOGES
(2) Jaipur, Bikaner, Jodhpur, Udaipur Q) SHEER, PR, \—rﬁ‘IER FEAR
(3) Jaipur, Udaipur, Jodhpur, Bikaner (3) SR, ST, TR, PR
(4) Jaipur, Jodhpur, Alwar, Nagaur @) SR, Ghag? SR, AR
12. Instrument of Pabuji’s Bhopas is - 12. TS @ WGl B 9ERF € —
(1) Morchang (1) ARET
(2) Algoja 2) IS
(3) Khartal (3) Exdre
(4) Ravan Hatha (4) EU BRI
01 - Page 3 of 32




13. The author of ‘Ranmall Chhand’ is - 13. <UFiedd 8% & AT & —
(1) Narpati Nalha (1) -Nufd «res
(2) Shridhar Vyas @) R s
(3) Padmanabh (3) WEM
(4) Sundar Das @)
14. 'Which of the following was notinthe Matsya 14. T4/ ® ¥ 99T YoM & THoR0T &
Union at integration of Rajasthan? Aoy O H T8 of?
(1) Alwar (1) s
(2) Dbolpur (2) e
(3) Karoli (3) TR
(4) Sawai Madhopur @) T W
15. Bhimji’s Dungari is in - 15. <ol 3 R § —
(1)" Ghittor Q) R ¥
(2) Udaipur (2) ST ¥
(3) Bhilwara 3) Hearer §
(4) Bairath @ e d
16. Tejaji is worshipped as god of - 16.  TSITO coenen, P g B wT H Uﬁ S B
(1) cows @) i
(2) sheeps (2) a3l
(3} horses (3) =t
(4) camels @ wei
17.  Sitabari fair is held at - 17. <raErel o Jal e e @ § —
(1) Kota (1) ®ier
{2) Bundi #)) a@
(3) Beawar (3) SR
(4) Ajmer (4) 3R
18. When and how many days is the Paryushan 18, da/ER Sl T ‘T{fﬁf‘ff 9d %9 3R fbom
festival celebrated by Shwetambar Jain’s? &= w=mar < 87
(1) Eight days of Shravan (1) =maw, 3s faq
(2) Eight days of Bhadrapad (2) Eug, o1e &9
(3) Seven days of Shravan (3) =mEu, || e
(4) Seven days of Bhadrapad @) "EYE, 6 2
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19. Where is sub-tropical evergreen forest found 19,  JISTRIM ¥ SUIWF BieHH WMER I Bl
in Rajasthan? U S 87
(1) Kota (1) BT
(2) Alwar (2) Seige
(3) Mt. Abu 3) GTIEL'CIEH
(4) Whole of Aravalli mountain @) T SN qiq
20. The district in which sub-tropical hilly forests 20,  fa el ¥ SuI™T yddlyr a9 Irg wIRt 27
are found -
§ (1) Alwar (1) @R
(2) Sikar (2) R
y (3) Ajmer (3) IR
(@) Sirohi @ =&
21. Lehariya and Ghevar of Mehndi are drawnon 21 BT TR 954 & wivevl § @eRal ok o
" the hand at - AS W & —
(1) Deepawali (1) <ragel
H (2) Holi (2) Bl
(3) Gangaur (3) TR
4 Teej @)
22. Which one of the following districts of 22. 2011 & WIoMI & AR, Fr=1 4 &
Rajasthan has highest literacy rate, as per I & e forel 31 arRar &) gdite
census 20117 2?
(1) Taipur 1) SER
(2) Thunjhunu ) I
(3) Kota (3 B
@) Alwar @) IR
) 23. [Extension of Banas Basin is in - 23, 999 AR & TR § —
(1) Tonk - Sawai Madhopur (1) <iF — ¥aE A=y H
L (2) Sa‘wal Madhopur - Jaipur (2) 9aiE AEIgR — FIR =1
(3) Jaipur —Dausa () SR — g A
(4) Tonk — Jaipur 4) 2id — SRR -1
24. TFrom the following where does the highest 24. 3Rmda Aot & fFreiferiaa § § Swaad T
portion of Aravalli range lies? HEl B?
(1) Udaipur between Kumbhalgarh and (1) SR 7 RIS AR et )
Gogunda =
(2) Hadoti plateaun to Kota () TR BR § BT 9B
(3) North Rajasthan (3) S IR
(4) Nahargarh to Jaigarh (4) ETE O SRS ab
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25. Luni Basin is the part of which ecological 25. oI IR fra mRRefd® wwr @t weT 87
region?
(1) Aravalli mountainous ecosystem 1) sREe yddE uiRkfRefis 93
(2) Desert ecosystem (2) wroverey dikiRerias o=
(3) Hadoti plateau ecosystem 3) TR Yor wiRRefys o+
(4) Eastern plain ecosystem (@) qdf fer uRRefos 9=
26. Halguru title is owned by - 26. BIGF[G SUIR RO B § —
(1) Mokal 1) Hrpd
(2) Lakha (2) @rEr
(3) Chunda @) =Tuer
(4) Kumbha @ T
27. The singer and composer Manrang, the 27. & Sell @ TAG 9 WAIGR HRT pd
originator of Khayal style, belongs to which XM & Yddd 59 S 57
Gharana?
(1) Jaipur Gharana (1) SR =R
(2) Mewati Gharana (2) FERH BRI
(3) Patiala Gharana (3) ufeaTer =R
(4) Agra Gharana (4) NI B_ET
28. Which districts come in Bwhw climatic 28. Bwhw Siearg Y9 4 BiFY et ey &7
region?
(1) Jaipur, Dausa, Alwar (1) ST, <R, AR
(2) Jaisalmer, Bikaner, Ganganagar (2) SR, dPFR, TR
(3) Kota, Bundi, Jhalawar (3) eI, 1, ACIArS
(4) Nagaur, Pali, Jalore (4) TR, Ulell, SR
29. Pachpadralake is - 29. UIYSET Sl —
(1) Saline water lake (1) |R 9 PR
(2) Sweet water lake (2) ¥i8 Il &
(3) Mixed water lake (3) T¥a o & 8
(4) Special water lake @ o Uy 91 Y
30. According to Thomthwaite, DA’w climate 30. 9Fde & ITER, DA’w WelaR] Ue¥ &
region includes following districts - aa = § 9 o 9 e ag 27
(1) Sirohi, Pali, Ajmer (1) R, Trell, 3R
(2) Ganganagar, Jaipur (2) AR, SIEYR
(3) Bikaner, Churu 3) FPER, G
(4) Jodhpur, Kota @ m BT
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31. In which year the soil survey began in India? 31. 9=d # {&g af § #a1 w9 ¥& gan?
@ 1979 @ 1979
@) 1879 @) 1879
(3) 1899 3 1899
4y 1999 4 1999
32. At which redox potential (Eh) the O is 32. o R<fgw defema@ (Bh) W 0.9 H.0
F changed to HO form - w1 Ftor 2ar €7
| (1 0.18100.15 (1 0.183 0.15
f (2) 0.38100.32 @) 0383 0.32
| (3) 0.20100.18 (3) 020 0.18
. @ 02810022 @) 028 022
33.  Which of the nutrient is related to drought 33. /= # ¥ I\ U 7@ W $ U
tolerance/luxury consumption? URRES TF AT SuET 3 g9 87
1) N (1) N
2 P 2 P
3K 3 K
@ S @ S
34. Which of the following clay mineral is 34. /= & ¥ o9 T @Fe @ waits
having the highest “anion exchange “Fromae T awar B 87
capacity”’? (1) SRS
' (1) Kaolinite :
[ (2) Vermiculite @ =2
- (3) Hlite © W
(4) Montmorilionite @
¥ 35. Which type of soils are covering the largest 35. = # 9 {59 UoR @ 9a¢ 9Rd d W&
area in India? SIET UT8 Sior 87
(1) Alluvial 1) S gag
(2) Laterite (2) deREe
(3) Desert @) Y
(4) Tarai @) aws
0i-7 Page 7 of 32




36. Which of the following crop is more sensitive  36. 79 # & @I Bgol ST T Ul surEr
to ‘Biuret’? Haereher =7
(1) Cereals 1 I
(2) Mango (2) 3™
(3) Citrus @) e o
(4) Cucumber @ ¥
37. The red soil with basalt as parent material 37. @l g R g Taref Jwree € 2,
belongs to which of the soil classification T8 &g qaT Fffaeur arey ¥ T 27
order?
(1) Vertisol M) fcHmw
() Oxisol @) SR
(3) Ultisol (3) s
4) Alfisol @) Irfemare
38. Which of the following nutrient element is 38. 4% % ¥ BI°<T UIvss o S Gd R’
the vital component of genes and P ATTAYYT HCH B7
chromosomes?
1) N () N
(2) P @2 P
® K @ K
@ s @ s
39. Wood ash is the rich source of which of the 39. @& & W@ 9 ¥ ¥ 59 UNe a@ &7
following nutrient? T =T 27
I N 1) N
(@ Zn (2) Zn
@ K 3 K
@ S 4 S
40.  The first fertilizer produced in India is - 40. Y 9ERS NIEHT IIET WRT | T v
(1) SSP (1) Ssp
(2) DAP (2) DAP
(3) MOP (3) MOP
(4) Urea (4) Urea
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41. The specific heat of quartz among the soil 41, TEY @ fARre ol Har srfie @ 44
constituents is - frdaad g —
(1) lowest (1) 9§49 HH
(2) highest (2) G <HET
(3) similar to other 3 E;»H?[ S T
(4) variable @) sifeR
42. Name the fertilizer/nutrient that is totally 42. W QNG O /SAXB BI AF GAISY ST
imported - oo &9 9 IR fhar S g -
(1) N —fertilizer (1) N-SR®
(2) P--fertilizer (2) P-SRF
(3) K - fertilizer (3) K—-<dw
(4) Zn —fertilizer 4) Zn-IRD
43. The ‘Law of Maximum’ concept was given 43. ‘sifiead & o9’ &1 s@ure fFas g™
by - & T o
(1) Mitscherlich ) frfea
(2) Wallace & Wallace (2) e ©d dferd
(3) Liebig (3) DT
(4) Henderson @) oexaT
44. ‘The Central Soil Salinity Research Institute 44,  B-sId FaT aUraT AT G HEl Rerd
(CSSRI) is located at - 7
(1) New Delhi M) S feoeh
(2) Karnal ) T
(3) Bangalore 3) TR
(4) Hyderabad @) e
45. The number of molecule of CO; liberated for 45,  UEH O 30 T SWINT # o W {¥1a+ CO;
each molecule of Oz consumed is called — :::;m e &, F8 S 1 1 T
(1) Respiration (1) R (FEE)
(2) Respiratory quotient (2) EREFE FERRe (39ET WNTE)
(3) Photolysis (3) BRI (BT TEe=)
(4) Photosynthesis @) BRI (T W)
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46.  If an irrigation water having EC 3 dsm™ and  46. 3¢ Riwng </ 91 f3ga arasdar 3 dsmrl o
EC of drainage water is 8 dsm™, the Leaching Stefi-ir Uil B {dga Areremar 8 dsm e,
Requirement (LR) will be - ar Feres 5T 85l —

(1) 37.5% (1) 37.5 wfdera

(2) 266.6% @) 266.6 S
3) 27.21% @) 27.27 ufEE
@) 72.73% @ 72.73 whawa

47. The silicate clay mineral formed by 47. ¥=9 i Imey uRRuRmEl & ¢
recrystallization under intensive acid fhecaiteeer gm1 i Rafse gRier
weathering conditions - Tfee & —

(1) Kaolinite (1) @sifaarEe

(2) Vermiculite 7)) q‘:‘.ﬁms—d

(3) Chlorite (3) FeNEe

(4) Fine grained micas @) TET B ASDT

48. The total area (Mha) under problematic soil 48. 4RG H TN T (Aqviig /&) &7

(salt affected) in India is - G &5%e (Mha) & —
(1) 6.74 Mha (1) 6.74Mha
(2) 67.4Mha (2) 67.4Mha
(3) 20.2Mha (3) 20.2Mha
(4) 17.3Mha (4) 17.3 Mha

49. Basic slag is a by — product of steel industry 49. 4% w=IFT S & el el BT SuEE
that contains high concentration of which of BT 8 9 A= # 9 o9 9 99 it
the following nutrient? HE H U Wy &7

(1) PandCa (1) PECa
(2) Pand S @ PudsS
(3) Caand S (3) Catds
4 MgandCa (4 MgUdCa

50. pH =-log [H'] where, H* ion concentration 50. pH=—log [H*], 5T&l 3= H* &I Gigar (=1

is expressed in - ¥ 9 59 e § 2y 29
(1) moles per litre (mL.7) (1) ¥ uiy @iiex (ml?)
(2) milliequivalent per litre (meqL™) (2) TR, geuify TRy e (megl)
() mgke (3) mgkg
(4) cmol (P¥) kg™ @) cmol (P*) kg™
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51. The sodium nitrate and basic slag develop 51.
which type of soil reaction?
(1) Alkalinity
(2) Acidity
(3) Salinity
(4) Salinity alkalinity

52. 'The pF value of saturated soil and oven dry  52.
soil respectively is -
(1) Oand 14
3 (2) Oand7
(3) land 14
4 land7
53. The iron and aluminium oxides and 53.

hydroxides are the ............. colloidal
material.

(1) irreversible
(2) reversible
(3) variable
(4) slowly reversible
54. A seed based approach where the germplasm  54.
is enriched with specific nutrients, micro-
nutrients, proteins, amino acids etc. is
called —
(1) Genetic biofortification
y (2) Agronomic biofortification
(3) Physiological intervention

(4) Bio assimilation

Wifeaw see Ud IRI® T &1 A ST
e / e T B 87

(1) &R

(2) areeiigar

(3) <9urH

(4) aUT &R

WO U9 @l a1 B pF A A Bl
z -

(1) 09 14

(2) 093 7

3) 1%d 14

@ 1% 7

IeRT wd gegffEe diemgs W
TSNS 59 TR & Fierd ysrf 87
(1) suRkgdelie

(2) uRacEla

(3) wfer

@ &1 sRadia

99 emnRa gfcaior oigi W S g @l
5 @ dive G (e UNE e, WIeH,
IAMET A 3MQ) ERT WYE T PEeadl
g -

(1) it grarpIfétrmes

(2) T FEifEhnIE

3) IRR T e

@) i |

} 55. The ideal CN ratio of cultivated soils is — 55. By IAFg ST BT SNSY FlEA Aggior
i G BT ® —
; 1 51 @ s5:1

(2) 10:1 (2) 10:1

(3) 20:1 3) 20:1

4) 30:1 @ 30:1
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56.

57.

58.

59.

60.

Which of the following plant nutrient is 56.
constituent of cell wall and essential to
maintain stability of cell membrane?

1) N

2 P

3) K

4) Ca
Azolla have algal symbiont in rice field that 57.
is called -

(1) Azotobacter

(2) Azospirillum

(3) Dergio

(4) Anabaena

17" essential plant nutrient is - 58.
(1) Molybdenum

(2) Chlorine

(3) Boron

(4) Nickel

Nutrient Index (NI} of a soil more than 2.5 59.
indicates -

(1) Low Nutrient Status

(2) Medium Nutrient Status

(3) High Nutrient Status

(4) Normal Nutrient Status

At field capacity the moisture is held with  60.
water potential -

1 <§bar
2) >§bar

(3) <15bar
4) >15bar

/1 % 9 BFar UNE T @ IR Ree
P UeH & AT DIRE el & wenfia &1
TG R 87

() N

@ P

3 K

4) Ca

IEd & WT A TSl © GEeidl BT AW
AR —

1) TSicNgeY

(2) TSIRYRe™

(3) SxFEr

@) TS

179t mgead diEl BT UNE T & —

(1) AiferesT

2) TR

(3) IR

@) ffee

q<T T Ul @ Gadis 2.5 9 G <@
3

(1) 9NF TG BT FT KR

(2) UYH I BT 7T WY

(3) NP IG BT ANF WR

(@) dNF TT BT GHRT WR

&3 &l W T (& aRAvsally g9 W
BId 87

€y <§‘sﬂ?

2 >§En'<'
3 <159
4 >1549%
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61.

62.

63.

64.

65.

The sulphur (S) content in Single Super 61.
Phosphate (SSP) is -

1) 11%
2 16%
3) 13%
4) 18%

India is using which taxonomical system for  62.
soil survey/classification?

(1) TUSS

(2) USDA

(3) European system

(4) Australian system
In the presence of organic matter and iron  63.
oxide in the soil, the colour of soil appears
like -

(1) Brown colour

(2) Yellow colour
(3) Light colour

(4) Red colour

The laughing gas is - 64.
1 N
(2) N2O
(3) CHs
4) SOz
The Iaboratory method for determination of  65.
textural of class was given by -
(1) TUSS
(2) USDA
(3) BSI
(4) USPRA

RiTTer gur wivhe ([@@ETEE) 7 "R (S)
H gRiea "5 8l © —

1) 11 ufer

(2) 16 uied

(3) 13 wivera

(4) 18 i
ARG F &1 64/ JHGR0 F STl TSR0
it ST ¥ o oI 8 87

(1) AEZTHTE,

) ITAESIT

@) R vef

@) sifefer ugly
Aq uerf 1§ IR siteags o dioh
T T HET B 87

@) T

(2) e T

(3) TEB G

4) &rer 3T
T arell {9 Fr A 9 B § -

(1) N

(2) N2O

(3 CH

@ SOz
T HONHR 99 S el & Y UFeren
fafyy fews grr <1 17

(1) 1USS

(2) USDA -

(3) BSI

(4) USPRA
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66. The term ‘Pollution’ is derived from which 66. ‘UgYUI' e fby W ¥ forar 1y 87
language?
(1) Italian 1) serferm
(2) French () wa
(3) Greek @ e
(4) Latin @ «fes
67. The Humic substance fraction of Soil 67. %<1 w9 uarf # THAF yarf &1 3w ear
Organic Matter (SOM) is - T -
(1) 85-90% (1) 85-90ufrera
2) 75-80% (2) 75-80ufEg
(3) 65-70% () 65-70 R
@) 55-60% @) 55— 60 R
68. The first Indian Remote Sensing Satellite 68. WRHI ATRY FTEUF e gRT WA
(IRS-1A) was launched by Indian Space TR g3 Hdal SUUE  (IRS-1A) P9
Research Organization (ISRO) in - 2T forar a7
(1) 1988 (1) 1988
@) 1978 @ 1978
(3) 1975 3) 1975
(4) 1980 4) 1980
69. Which of the following crop contains 69. = ¥ 4 ST FO BT 90f & T 9
maximum heavy metals grown on sewage Hdl P N GG SATET IRY Iedl dT a3
effluents? g Wt 87
(1) Spinach (1) Ueis
(2) Cauliflower ) tﬁc\a-,,ﬁqﬂ
(3) Wheat ) ﬁ_é
(4) Maize @) T
70. The 90 — 95 percent of the plants are 70. TET & 90— 95 Ufawd wrT =1 4 4 far
composed of which of the following qS% Tl DT 97 2T &7
nutrient?
(1) NPK (1) NPK
(2) PKS (2) PKS
(3) CaMgK (3) CaMgK
(4 CHO @ CHO
01-3 Page 14 0of 32
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71. NBSSLUP classified India into how many 71. NBSSLUP ¥ %Ra & fdaw @l
agro ecological divisions? oIl Wuel § Jifipa fhar g7
(1) 16 1) 16
(2) 18 2 18
(3) 20 3 20
4) 24 @ 24
72. Muriate of potash fertilizer is not suitable for 72. URTY Sddh &I TS Gdrdy, Yg 3IATe], Bl
Tobacco and potato because of - FHHeAl D [l e P PRI SUYERT T8I B |
(1) SO;~ toxicity (1) "ebe Rurear
(2) CI™ toxicity (2) TARES ﬁpsn@'m’
(3) Availability R
(4) Costly fertilizer @) FET SiE
73.  Which of the following is most dominating 73. = # 9 $Fwr 999 g9l faFeEasier
exchangeable ion? I 27
1 Kx* @ xr
(@) Ca*™ (2) Ca™
(3) Na* (3) Na*
@ H* 4 T
74. The irrigation water containing CO3~,HCO;, 74. Rf@E & uFl & C03;~,HCO3, Ca™ d
Ca** and Mg** ions 1, 4, 2.5 and 1.5 megL™ Mg+ g9l &I | 1, 4,2.5 54 1.5 Bl
respectively. Calculate the RSC of irrigation Jodics URT ofte (meqll) FHHRE B, AT gEST
water. ARTEHL AF ST Piforg |
) 1.0 1 1.0
2 01 @ 0.1
(3) 0.01 @3) 0.01
@ 100 @ 100
75. Blue baby syndrome is due to higher 75. < 9t RigW fbg o & il¥e Arsdl &
concentration of - BN BT &7
(1) Cadmium 1) desfHEa
{2) Lead () @€
(3) Nickel (3) fafse
(4) Nitrate @) e
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76. The Bulk Density (BD) of soil sample is 76. [l &1 & 71 & w[F T (BD) 1.5
1.5 Mgm™ and Particle Density (PD) is o7 RY T AL § 9O $9 9N (PD) 2.5
2.5 Mgm, calculate the porosity of this soil =7 oY T AL 2, e a1 :F‘ff BT TEE
sample. e R —
(1) 40% (1) 40 yfcrwg
(2) 50% (2) 50 yftrwa
() 60% (3) 60 wfcT
4) 55% @) 55wy
77. The Nitrogen (N) content of atmospheric air  77. 9IATGRg ga1 & Fgaro (N) B =1 Bl
is - g -
@) 70.60% (1) 70.60 wfEra
(2) 78.03% 2) 78.03 ufvEd
(3) 79.10% @) 79.10 wfrerd
) 79.05% @) 79.03 uRre
78. The father of Soil Science and Agricultural 78. R4 A 7T 999 @ Y @ &1 o
Chemistry in India is - BT &7
(1) J.'W. Leather (1) o g A
(2) Adolph Frank @ e B
(3) Nikodem Caro @) FrrsT R
(4) Lichig ORCILY
79. The amount (tons) of iron pyrite (FeSz) 79. 1.0T9 Rem & g,cfuicb ¥ faqr e 3R
equivalent to 1.0 tonne of gypsum - TERISC BT &7
(1) 0.63 (1) 0.63
(2) 0.58 (2) 0.58
(3) 0.57 () 057
4 1.62 4 1.62
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80. To find out amount of phosphorus in soil by  80. # fafy & waT # A BBRY W@ B D
Bray’s method, extraction is done from fore e =1 9 @ &9 =ia 9 far s
which of the following solution? 27

(1) DTPA (1) DTPA
(2) NILF (2) NH4F
(3) NaHCOs3 (3) NaHCOs
4 NaOH 4) NaOH
81. Soil protozoa are predators of which of the 8L  Har WelsiieT B 4 & &= fial &1 wrwel
following micro-organisms? giar 87
(1) Bacteria (1) JwRar
(2) Algae (2) T
(3) Fungi @) BTE
(4) Actinomycetes @) heAmEdes :

82. The surface area of vermiculite clay mineral 82. dM¥igEe Ja @Sl &1 g5 &% BT
is- 3 —

(1) 700 — 800 m?/g (1) 700 - 800 & 1. /7
(2) 300-500 m*/g (2) 300-500a% 4. /7
(3) 100300 m%g (@) 100~300 7 . /9T
@) 5-100m’g @ 5-100%F . /90

83. Accumulation of which nutrents in soil 83. F#=1 ¥ ¥ {7 Une ol & a1 F WM,
along with leaching and runoff in water EeE 99 Ul @ 989 $ 9T ol & o
bodies causes ‘Butrophication’? UEAT I® AEIBBI BT HROT I 87

(1) Nand P (1) Ngg P
(2) Nand S (2) NQE[S
4) SandX @ STK
84. Micais an example of which of the following 84. HZ®l FF # & fhy oo Q@S &7 SRR
clay mineral? 7
(1) Kaolinite (1) @aiferTse
(2) Vermiculite 2) Epﬁm
(4) Montmorillonite @) wieaddrEe
01 - [ Page 17 of 32




85.

86.

87.

88.

The ‘Soil Health Card’ scheme was launched  85.
in which year?

1) 2016

(2) 2014

(3) 2015

4) 2017

Which of the following industrial effluents  86.

has high salinity and excessive concentration

of sodium and carbonate ions?
(1) Distillery
(2) Paper mill
(3) Tannery and Textile industry

{4) Metal industry

Which of the following nutrient acts as 87.
regulator of K:Ca ratio in the plants?

1 B

(2) Zn

3) Fe

(4) Mn
Name the phosphorus (P) supplying mineral  88.
from the following -

(1) Chlorite

(2) Apatite

(3) Smectite

(4) Muscovite (Mica)

eI W Fre Ao 59 a¥ g

g7

(1) 2016 1
(2) 2014 i
(3) 2015

@) 2017
e 4 9 fow v & g we A
JAF /S @aURAT UG AIeIH  qeln
PEFC AGT B &7

(1) T /I

(2) o A

(3) TAST TG PHUST VeI

(4) =g SET

=1 % 9 s owe @ 9l A KiCa
ST PI IR eRar 87

(1) B

) Zn

(3) Fe

@) Mn

1 F 9 BReRE TeE e g e
AT —

(1) TN

(2) WerEe

(3) TS

(#) wEPpIEET
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89. In case of degraded alkali soils, there is a  89.

leaching of saline-sodic soils and the part of

fAiipa ey wemRll F Faoiy i gameil
&1 e gar & den faftmaelier Na &

exchangeable Na is generally replaced by - g Foes 51 STTS et 3 4 erer e ke
(1) Ca™ (1) Ca*™*
(2) Mg+ 2 Mg+
(3 H* 3) Ht
@ X' @ Kt
90. Which of the following nutrient is known as  90. 9 ¥ I ®9—41 Uiva ag Ukl & o
‘energy currency’ within plants? Hal BNl &7
1) N 1) N
@ P (2 P
3) K 3 K
@ S @ S
91. The K constitutes about approx. how much  91. Ul # WERRE A w=n W fHad
percent of the earth’s crust? e Bl 87
| 1 2.5% ) 2.5%
{ 2 025% 2) 0.25%
3 1.1% 3) 1.1%
| @ 0.11% @ 0.11%
* 92. What was the main limitation of Stroke’s 92. AW & M 7 FUI & WA 97 & IR
> Law on settling velocity of clay particle? ¥ T B T R 87
L (1) Particle shape oy = m
| (2) Particle size (2} T APR
_t (3) Particle weight (@) BT HR
(4) Particle colour (d) T NI
t. 93. Which of the following elementisbondedin  93. /= # ¥ #9491 d@ FORIfbe ¥ U
the centre of propyn prophyrin ring in the WEERa 1 7 3w emar 87
l chlorophyll?
'i (1 Mg (1) Mg
k (2) Cu ) Cu
' (3) Zn (3) Zn
l‘ (4) Ni 4) Ni
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94.

95.

96.

97.

98.

The bacteria responsible for oxidizing the 94.
NHZ to NO; is -

(1) Nitrosomonas

(2) Nitrobacter

(3) Pseudomonas

(4) Rhizobium

The critical limit of zinc for Indian soil is — 95.

(1) 0.6 ppm
2y 0.2 ppm
(3) 2.0 ppm
(4) 1.0ppm
The S content in gypsum is - 96.
1) 16%
(2) 21%
3) 23%
4) 26%

The available potassium is extracted from the  97.
soil by shaking the sample with -

(1) Sodium acetate

(2) Morgan’s reagent

(3) Acetic acid

(4) Sodium bicarbonate

Accumulation of ‘low activity clays’ is the 98.
characteristics of -

(1) Albic horizon

(2) Oxic horizon

(3) Kandic horizon

(4) Cambic horizon

FIfFRET & ggise # SR © forg
forer A 9 BT ge STl STRerl BT &7

@) TESEEAE
(2) TELIIFR
3) TS
(4) s

ARGT a1 & [T SIar &0 wifae G
g —

(1) 0.69dgH.
(2) 024diA.
(3) 2.0 9idgE.
@ Lo4diEH

o ¥ qeBR & W Rha B 87

(1) 16 wRwer

() 21 ufwEE

(3) 23 ufe

(4) 26 dfo=a

o1 4 & Suae UeRRE (K) 91 fFreis fba
Hiel §NT haT ST 87

(1) wisEs gdice

(2) Wt gfdere

(3) hilks the

@) \IRTT IEFEFT

‘e fibar arelt gRer @1 deee fha
fear &2

(1) s dwr

(2) dSifrae dwr

(3) BleP HEN

(4) Didd dwR
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99.

100.

101.

102.

103.

The electrical conductivity of 0.01 M KC1
solution at 25°C is -

(1) 1.41 dsm™

(2) 14.1 dsm™

(3) 0.14 dsm™

4 2.41dsm!

The relation between osmotic pressure (atm
or bars) and electrical conductivity for salt
mixture is -

(1) EC=0Px0.36

(2) OP=0.36/EC

(3) OP=0.36%xEC

4) EC=0.36/0P

The term ‘Remote Sensing’ was introduced
in USA in which period?

1) 1950’s

(2) 1960’s

(3 1940’s

@ 1970’s

Calculate the Leaching Requirement (LR) of
an irrigation water having EC 3 dsm™! when
the EC of drainage water is 8 dsm™?

(1) 26.6%

(2) 2.66%
3) 37.5%
@ 3.75%

Which of the following micro nutrient plays
an important role in pollen germination and
pollen tube growth?

(1) Zn

(2) Cu
3) B
4) Mo

99,

100.

101.

102.

103.

0.01 M TSR FARISS B 25°C =R [Em
ST Bl & —

(1) 1.41 dsm™

(2) 14.1 dsm™

(3 0.14 dsm™

@) 2.41 dsm™
fodl 4t eaer fsor & o faga o
U4 TRIROT 519 4 e I8y —

(1) EC=0Px0.36

(2) OP=0.36/EC

(3) OP=0.36%EC

(4) EC=0.36/OP
IR Wl wi A o Rer § e
Pt FaerT § ART?

(1) 1950’s

(2) 1960’s

(3) 19407s

@) 1970’s

fedr RiaE oo o7 4. 3 dsm?! @ on
e el 31 3. 8 dsm1E o 59 Refy
A gaT B Mefe avaewar s B |
1) 26.6%

(2) 2.66%
(3 37.5%
@) 3.75%
1 4 O BT &9 UINE T WRIT SigRo

T4 WRAT el gig # 5% qf¥er fHmwar 87
(1) Zn
(2) Cu
3 B
4) Mo
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104. The available sulphur in soil is determined by 104. SUeial WeH F&T 4 9§ WA & & oG
which of the following method? = A4 9 o R oH H o 87
(1) Olsen’s 1 3y
(2) Walkley and Black (2) dfFa @ e
(3) Chesnin and Yien (3) AR vF A
(4) Alkaline Permanganate (4) Teperg WEFE
105. The highest N — fixing (kg N/ha/yr) legume 105, /=1 & & W99 <&r +iggor N-
in Indian soil among the following crops 1s — m%m iﬁl %{i?\::j);
(1) Pigeon pea %?(1) ReR (T )
(2) Groundnut @) HrEd
{3) Clover 3) e
(4) Alfa Alfa
(4) 31T 3Tcthl
106. The indicator plant for Permanent Wilting 106. Wwdrc R dise (PWP) &1 @® Ulel
Point (PWP) is - 7 A 9§ Pl 8
(1) Pearl Millet (1) dIoRT
(2) Cluster bean (2) TR
(3) Sunflower 3) W
(4) Maize @) T
107. Marble is an example of which of the 107. TIU T4 Ta1d §RT HUMRA TEM HIFNEI &,
i:f;:if altered condition through heat and St WS BT SRR 27
(1) Limestone (1) AREA
(2) Sandstone (2) dsw=H
(3) Shale 3) =
(4) Granite @ I
108. The N : P,0s: K20 content of poultry manure  108. TF11 91$ @1 @WIg § N : P20s: K20 &I 7=
is - Bl B —
(1) 3.0:1.0:20 () 3.0:1.0:20
2) 07:02:06 2 0.7:02:0.6
(3) 3.0:25:1.5 3 3.0:25:15
4) 05:03:05 4 05:03:05
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109. Neutron probe is used for measurement of — 109, <2iH Wg =1 § 4 &7 917 =1 & fog
warT 4 forar smar 82
(1) EC (1) e =raear
(2) pH @ g
(3) Water content (3) IR B A
@ SAR (4 TaTIR
110. The Nitrogen (N) content in Ammonium 110. SHIFRH TEge (NILNOs) ¥ wiggeH (V)
Nitrate (NFL{NO) is - 1 AT BT S —
(1) 25% . (1) 25 uftre
2) 33% 2) 33 ufder
@) 21% @) 21 wiwa
@ 28% @ 28 wRe@
111. The DTPA extractant concentration used for 111. &1 /1 # ¥ & UG Oed 9 B &
determination of micronutrients content in T%I'Q DTPA i &1 digal 8idl & —
soil is - (1) 0.005M
(1) 0.005M ) 0.0005M
(2) 0.0005M @3) 0.05M
3 005M @ 05M
4 05M
112. The element Nitrogen (N) is not found in 112, "EgoM (N) o = § & g =78 amn
which of the following? T 87
(1) Lithosphere 1) foermax
(2) Hydrosphere (2) BESHIR
(3) Rhyzosphere (3) TSGR
(4) Atmosphere @) TeHRER
113. Which of the following family tends to 113. = ¥ ¥ ®VRY Uy Sfel w=@ NO;
accumulate high nitrates when growing under BRI 1 NO3 HIE SH1aT Bl 27
high nitrate soil/water?
(1) Chenopodiaceae (1) AN
(2) Solanaceae (2) Wrerr
(3) Rosaceae @) '@l’\ﬁi‘ﬁ
(4) Cucurbitaceae “ W
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114. Which of the following micronutrient is a 114.
component of urease enzyme?
(1) Ni
(2) Fe
(3) Zn
4 Cu
115. The dominant mineral of fine sand and coarse  115.

silt fraction of soil is -
(1) Mica
(2) Feldspar
(3 Quartz
(4) Pyroxins
116. The ‘AKIOCHI disease of rice is caused by 116.
the toxicity of which of the following?
1 CO:
(2) NO2
(3) Si
4) H;S

117. Which of the micronutrient imparts drought 117.

tolerance in plants?
1) B
(2) Mo
3 C
4) Zn

118. Which of the following P fertilizer supplies 118.

two secondary nutrients (Ca and S) in
addition to P?

(1) SSsp

(2) Rock Phosphate

(3) DAP

(49 Ammonium Phosphate

1 4 9 P U a@ IR garsd
B TSH BIT &7

(1) Ni

(2) Fe

(3) Zn

@) Cu
T X @ A e Foil e g1 |
Tt S S s 87

(1) wESt

(2) BeswR

(3) TS

@) Ui
Tqqa B BEA H CSHPAR e G
o= ¥ 9 fPud Rureaar & aror 8kt 87

(1) CO;

(2) NO;

3) Si

4) H:S

= 3§ 9 o e Uive o dEl d 9e
% Uy IRHar § HegE 8T 87

(1) B

2) Mo

3

4) Zn
o F & DN P SdNG BIEPRY B 3Ta]
a1 of fgdias e o (Cavd S) i uaH
FRA B?

(1) THTEdL (SSP)

(2) @ BT

(3) Tl (DAP)

@) NI Bidhe
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119. In which year the urea was synthesized in 119. %o NI {9 9§ & ?{ﬁ?ﬂ BT TR H
laboratory by Wohler? [T g w7 272
(1) 1851 (1) 1851
(2) 1843 (2) 1843
(3) 1828 (3) 1828
4) 1805 (4) 1805
120. Calculate the moisture percentage from the 120. feg 7w 79 I el §d Ui 9|
given observations — BT —
weight of moist soil + box = 150g T &1 61 G + 9199 = 150 UM
weight of oven dry soil + box = 130g G W& BT T9F + S = 130 7
weight of empty box =40 g W dfea 7 g9 = 40 UH
1) 269 (1) 269
2 222 @) 222
3) 256 B3) 256
. 4) 23.8 @) 238
121. The size of coarse pores is - 121. 9g< {&8] & AR 8T & —
(1) >02mm 1) >02mm
(2) >0.02mm (2) >0.02mm
(3) >0.002 mm (3) >0.002 mm
4) >0.005 mm (4) >0.005 mm
122. Which of the following enzyme is 122. FF9 ¥ | PI9wT USsH TEceH $ =T
responsible for reducing nitrogen (N2) to H g & forg e g 27
ammonia (NH3)?
(1) Amylase 1) sFIgAS
(2) Nitrogenase (2) "ERIS
(3) Peptase 3 Jeu
(4) Urease @ IRee
123. Inwhich year a comprehensive system of soil  123. fhg a¥ ¢ I?ch_d aT GHIT T e R LT
classification popularly known as 7% gs, ford sk i 7% Aigw wEd 87
approximation was published?
(1) 1960 (1) 1960
(2) 1951 (2) 1951
(3) 1964 (3) 1964
4) 1967 (4) 1967
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124.

125.

126.

127.

128.

The sand dunes and depositions from 124.
materials transported by wind 1s -
(1) Lacustrine deposits

(2) Colluvial material
(3) Aeolian deposits
(4) Delta deposits

The solubility of Gypsum salt (gL) in water 125.
is -

(1) 260

(2) 26

(3) 0.26

(4) 0.026

Biogas is a combination of which of the 126.
following gases?

(1) CH, H

(2) CH4, N

(3) CO:,N,H

(4) CH4, COz, Hz, N2

Vesicular-Arbuscular Mycorthiza (VAM) 127.
increases the uptake of which of the
following micronutrient?

(1) Zn

(2) Fe
3 Cu
@) Ni

The moisture content of soil at a point where 128.
the soil water mass flows under an applied
force and fails to retain its shape is -

(1) Lower plastic limit
(2) Plastic index
(3) Upper plastic limit

(4) Non plastic

e gy (A d9) @ B g1 A TS
S A B § —

1) PRI T4

(2) Digfaaer sHE

(3) waiferE s

@) Scel SHE
o @ e § gemdiear (gL Sl
&

1) 26.0

2) 26

(3) 0.26

) 0.026
JEnN o 3§ | 5 S @ M 82

(1) CHs,H _

(2) CH4, N

(3) CO,N,H

(4) CHs, CO2, Hz, N2

TIGR—IRIAGeR  AsoRES (T

P A 9§ BN 9 ONe dd @ STE
B qGIAT &7

(1) Zn

(2) Fe

(3) Cu

@ Ni

HaT ¥ &1 O @ i@l ey &1 9
fis 9gar & U9 &5 °@ & I R T8
s+t qd Rerfy & 781 e 8, weelar § —

(1) 1 wiles wr
(2) <IReF 3T
(3) S= WIREH WX
@) ¥ wiies
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129.  The Potassium (K) and Sulphur (S) contentin  129. Wi¢RRM Wede (K.S0s) ¥ e (K) Td
Potassium Sulphate (K2SO) is - B (S) B AT w2l & —
(1) 50% and 17% (1) s09fcer g9 17 wioee
(2) 60% and 16% @) 60TRET o 16 HRET
(3 50% and 13% @) 509REd w13 SRy
@) 60% and 13% @ 60T TF 13 SR
130. Streptomycin, aureomycin tetramycin and 130. /=1 9 9 fa @ew oiEl gN7 weHEdE,
neomycin antibiotics are produced from WRIERF, <gMEsRE @ PR
which of the following? * Taerifed Ui Bt &7
(1) Bacteria )] \—Jﬁ—crr(g
(2) Algae 2 TS
(3) Actinomycetes 3) TR Hlﬁﬂﬂc\uj
(4) Fungi @) wod
131. ‘The conversion factor of P20s to P is - 131. P;0sY P & HUCRT DRE & —
(1) 043 (1) 043
(2) 2.29 () 229
3 1.20 (3) 1.20
4) 083 @) 0.83
132. The unit of density in CGS system is - 132. CGS Yolell ® B9 & SaIS oidl & —
(1) Ib/cit (1) USS 9 99 $ic
(2 glec (2 9™ gfq =7 |
(3) Mgm?® @) & ufy w7 4
@ ghksg 4) v ufq fsa
133. In Freundlich equation M = ACP the ‘C’ 133. wWwid<foe WHawT M = ACR § ‘C” fogay
stands for - <gitar 82
(1) Concentration of N (1) N T Figar
(2) Concentration of P (2) P Higar
(3) Concentration of K (3) K& gigar
(4) Concentration of Ca @) Cadl wHigar
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134.

135.

136.

137.

138.

One (1) bar is equal to the value of pF -
(1) 4.18

2 70

(3 098

4) 2.25

The equivalent acidity of urea is -

@) 80

2) 107

3 127

(4) 148

The Diagnosis and Recommendation
Integrated System (DRIS) approach was
given by -

(1) Mitscherlich

(2) Beanfils

(3) Liehig

(4) Wallace

The word ‘Chelate’ that means claw is a term
derived from which of the following
language?

(1) Greek

(2) French

(3) Italian

(4) Latin

134.

135.

136.

137.

e (1) IR fas pF M & TG BT 87
(1) 4.18
(2) 7.0
(3) 0.98
@) 225
gRar @ Yedile swrdr Bl & —
(1) 80
2 107
@) 127
4) 148
SEEING T T@Ipd  SgEu GEid
@raangwa) Faw e dfe gwr e
IR 87
1) e
@) e
(3) =i
@) die™
oo wirar < form T 87

@) e

(2 w4

(3) serfeds
@) fes

The highest over all enzymatic activity is 138. =1 § ¥ 5w sl & ¥ ga1 B9 ¥

observed in which type of clay sized soil
particles?

(1) Clay<50p

(2) Clay50-70p

(3) Clay70-90pn

4) Clay>90p

TwTey ufshar gaifere Bl 27

(1) el <50 HEHA
(2) @@l 50— 70 ASHE
(3) i 70 — 90 HSHI
() Tei> 90 WEHA
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139. The pH of DTPA solution used for 139. DTPA i T G& U ocd (Zn, C, Fe,

determination of micronutrients (Zn, Cu, Fe, Mn) 3 &R & T 59371 pH A fbaenr
Mn) is adjusted to - TET SIar 87
@ 7.3 @ 7.3
. @ 15 @) 75
3) 638 3) 68
@ 65 @ 65 -

140. The Cation Exchange Capacity (CEC) 140. oI 919 e @ eMRA fifwa &ar (CEC)

cmol (P*) kg™ of soil organic matter is - cmol (P*) kg Bt & —
M 50—100 @ 50-100
(2) 100200 2) 100-200
(3) 200300 ) @) 200-300
) >300 @) >300

141. Which of the following represents the purity 141. H&a 97 @ & = & ¥ Saar 41 €

or strength of colour in Munsell colour chart? & T YEaT Jaidr 87

(1) Hue ) T

(2) Value @) a?{\

(3 Chroma 3) B

{4) Hue and Value both @ E‘\‘{\Qﬂ aF\’T,L <

142. The contamination of soil by cadmium (Cd) 142. =1 % & oF9 IRe ¥a 9§ wa §

is done by the application of which of the SSHITT YSHY BT &7
following fertilizer?

a N 1) N

@) P 2 P

® K G K

@ S @ S
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143. Bonemeal is a rich source of which of the 143. & & T =1 # ¥ {9 dwe a@ &1

following elements? U & 27
(1) Pand Mg (1) PYdMg
(2) Pand Ca (2) PTdCa
3 P (3) P
4) Mg (4) Mg
144. When organic matter is added to soil, the 144. Sid frdfY a1 # Sig wawe! e ST €, of
Particle Density (PD) of soil will - D] BT Tl —
(1) increase O <0
(2) decrease (2 =N
(3) no change (3) @ e &
(4) first increase then decrease @) TES T R wed
145. The concept of target yield was givenby — 145, o9& SUS1 &1 SiquRell s g™r < TS
ofy?
(1) Truog 1) gr
(2) Ramamoorthy @) '\’F*Tl‘l%
(3) Cate and Nelson (3) Pe T Yo
(4) Strok @) ©rF
146. ‘Bitter pit’ of apple is caused due to 146. 9 FT ‘Fedl gLl U UNG T BN FHI
deficiency of which nutrient? B HRU BT &7
1) Ca (1) Ca
@) Mg 2y Mg
3 K B3 K
@) B @ B
147. The density of air (Mgm?) is - 147. &1 &1 g9 (€7 9 v HL) gy § —
(1) 0.0012 (1) 0.0012
@) 0.012 (2) 0.012
(3 012 (3) 0.12
4) 0.00012 (4) 0.00012
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148. The saline and alkali soils fall in which soil 148,

order?

(1) Entisol
(2) Alfisol
(3) Aridisol
(4) Mollisol

149. Which of the following crops register the 149.
highest uptake of P and K respectively?

150.

(1) Tomato and Okra
(2) Radish and Barana
(3) Maize and Citrus
(4) Cabbage and Grape

Which one is the best indicator of soil 150.

fertility?
(1) Soil pH
(2) Organic matter
(3) Auvailable phosphorus

(4) Available micronutrients

seckeck eodesisiorsgeoksk

qUg Ud &N qaTg fw e wor # and)
&7

1) &

2) sfewrdra

(3) RS

@) HAreirarer
=1 4 9 B Bl B 99N wIeT P
T4 K BT qeyT Hel 87

@) THER U§ [

(2) el ©d Ber

(3) AFDB1 UE +ig wenfar

@) I T SR
T AT BT T AT b DIl 572

(1) 751 WL

(2) FEAE TR

(3) ST BIEHRY

@) TUE ¥EH NYF T
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Space for Rough Work /Y& & & forg w8
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